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Reasoning & Computer  Aptitude

(1–2) :

1. (5) Clearly, pesticides are meant to prevent

the crops from harmful pests. But at the

same time, they get washed with water

and contaminate the ground water. Thus,

both the arguments hold strong.

2. (2) Only argument II is strong.

(3-5) :

3. (5) Clearly, the appeal has been made to

encourage people to contribute to

development by paying taxes honestly.

So, both I and II are implicit.

4. (2) Clearly, nothing is mentioned about the

proofessional nature of the job. So I is

not implicit. The statement hind that

one rejects a thing that is easy to

achieve. So II is implicit.

5. (1) The fact given in I directly follow from

the for a better fiscal management in the

statement so, I is implicit. However, the

public response to the new policy cannot

be ascertained. So II is not implicit.

(6-10) :

6. (1)

7. (4) From I and II

D 

B

AE

C

Clearly, immediate right of E is A.

8. (4) Clearly, subham's birthday is clearly from

Both the statements I and II together.

9. (2) Statement II is sufficient to give the an-

swer. Statement I is not.

10. (3) Both statements I and II are not suffi-

cient to give the answer.

11. (5)

25

40 m

40 m

25 m

35 m

starting
point

SBI PO (PHASE - II) MOCK TEST-96 (SOLUTION)

(12-16) :

Input : 32 proud girl beautiful 48 55 97 rich fam-

ily 61 72 17 nice life

Step I : beautiful 17 32 proud girl 48 55 97 rich

family 61 72 nice life

Step II :  family 32 beautiful 17 proud girl 48

55 97 rich 61 72 nice life

Step III : girl 48 family 32 beautiful 17 proud 55

97 rich 61 72 nice life

Step IV : life 55 girl 48 family 32 beautiful 17

proud 97 rich 61 72 nice

Step V : nice 61 life 55 girl 48 family 32 beau-

tiful 17 proud 97 rich 72

Step VI : proud 72 nice 61 life 55 girl 48 family

32 beautiful 17 97 rich

Step VII : rich 97 proud 72 nice 61 life 55 girl 48

family 32 beautiful 17.

12. (3) 13. (4) 14. (3)

15. (1) 16. (2)

(17-21) :

Faisal
Red velvett (M) Bipin

Butter 
scotch (F)

Chintu
Fruit and 
Nut (M)

Dipesh
Vanilla (F)

Guddu
Strawberry

Ajay
Black

Current 
(M)

Harsh
Chocolate 

(M)

Edward
Mulberry (M)

(F)

17. (1) 18. (3) 19. (1)

20. (3) 21. (1)

(22-26) : 

D 7 Maharashtra

B 6 Pune

G 5 J&K

A 4 Delhi

F 3 Punjab

E 2 Haryana

C 1 Rajasthan

People Floor City
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22. (2) 23. (5) 24. (4)

25. (2) 26. (3)

(27-31) : 

LK N O H J I M

27. (1) 28. (2) 29. (2)

30. (4) 31. (5)

(32-34) :

32. (5) K = D > G = N > O = A > P, G > L

I. K > L  True

II. D > A  True

Both conclusion I and II are true.

33. (4) O = L > G = T > B < C > E < F > I

I. C > I false

II. B < O  false

Neither conclusion I nor II is true.

34. (1) T > R > Q = P

M < R < N = B < D

I. Q < D  True

II. T > B  False

35. (3)

(36-40) :

     

D
(Buxar)

H
(Sasaram)

B

F
(Arrah)

C
(Gopalganj)

A
(Chhapra)

E
(Siwan)

G
(Kishanganj)

(Nawada)

36. (2) 37. (4) 38. (5)

39. (5) 40. (4) 41. (1)

42. (3) 43. (2) 44. (4)

45. (4)

Data  Analysis & Interpretation

(46-50) :

46. (2) Total no. of female employees in

manager post in BOB = 7.5 × 
56

100
 × 100

= 420

Total work = 420 × 20 = 8400

Work done in 20 days

= 420 × 5 + 400 × 5 + 380 × 5 + 360 × 5

= 7800

 Remaing work done by 340 females in

8400 – 7800

340
 days

= 
600

340
 days = 1

13

17
 days

 Required no. of days = 20 + 1
13

17

= 21 
13

17
 days

47. (4) Total no. of female employees in

Manager post in all the banks together

=

70 40 56
9.5 12.5 7.5

100 100 100

80 80
10.5 8.5

100 100

 
     

 
 
      

×100

= (6.65 + 5 + 4.2 + 8.4 + 6.8) × 100 = 3105

 Required average = 
3105

5
 = 621

48. (2) Total no. of male employees in Clerk post

in BOB and BOI together

= 
64 30

22.5 17 100
100 100

 
    

  

= (14.4 + 5.1) × 100 = 1950

Total no. of female employees in PO past

in SBI and PNB together

= 
64 30

13.5 15.5
100 100

 
    
 

 × 100

= (8.64 + 4.65) ×100 = 1329

 Required more%

= 
 1950 –1329

100 %
1329

 
 
  

 Required more%

= 
 1950 –1329

100 %
1329

 
 
  

= 46.72%  47% more

49. (3) Total number of male employees in Clerk

post in BOI

= 17 × 
30

100
100

  = 510

ATQ,

510 × 74 = 204 × 76 + 153 × 70 + 153 × x

153x = 37740 – 15504 – 10710
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x = 
11526

153
 = 75 years 4 months

50. (1) The no. of female in Clerk post in BOB

and BOI together

= 
36 70

22.5 17
100 100

 
    
 

 × 100

= (8.1 + 11.9) × 100 = 2000

The no. of male employees in Manager

post in PNB

= 12.5 × 
60

100
 × 100 = 750

 Required ratio = 2000 : 750 = 8 : 3

(51-55) :

51. (1) Let the total income of the senven
organisations in the year 2014 and 2016
is ` 500 and ` 700 respectively.
Saving of organisation Q is in the year

2014 = 500 × 
6

100
 × 

20

100
 = `6

Income of organisation T in the year

2016 = 500 × 
21

100
 × 

400

3 100
 = `140

 Saving = 140 × 
40

100
 = `56

 Required % = 
6

100
56

 
  
 

%

= 10.71 %  11%

52. (3) Required ratio

= 
5

3
 × 

37

100
 : 

7

3
 × 

18

100

= 185 : 126

53. (2) Let the total income of the senven
organisations in the year 2014 and 2016
is ` 500 and ` 700 respectively.

Income of organisation T in the year

2016

= 500 × 
21 400

100 7 100



 = ` 60

Total incomes of organisation U and V

in the year 2016

29
700 – 700 60

100

  
       

 = ` 437

 Income of organisation U in the year 2016

= 
437

19
 × 11 = 253

 Required % = 
253

100
700

 
  
 

 = 36.14%  36%

54. (1) Let the total income of seven

organisations in the year 2014 and 2016

is ` 500 and ` 700 respectively.
Total incomes of organisation P, Q and T

together in the year 2014 = 500 × 
37

100

= `185

Income of organisation T in the year

2016 = 
10

500
100

  × 
150

100
 = ` 75

and total incomes of organisations R, S

and T together in the year 2016

= 700 × 
14

100
 + 75 = ` 173

 Required more%

= 
 185 –173

100
173

 
 
  

%

= 6.93%  7% more

55. (2) Total incomes of organisations P and Q

together in the year 2016

= 700 × 
15

100
 = `105

 total incomes of organisations P and Q

together in the year 2015

= 
105

120
 × 100 = `87.5

Total incomes of organisation P and Q in

the year 2014

= 500 × 
16

100
 = `80

 Required increased %

= 
 87.5 – 80

100 %
80

 
 
  

= 9.375% increase

(56-60) :

56. (4) Selling price of rice

= 9300 ×
105

100
  = ` 9765

57. (2) S.P of Oil = 2000 + 500 + 250

= ` 2750

C.P of Wheat = 8000 + 3000 = `11000

 Required % = 
2750

100
11000

 
  
 

% = 25%
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58. (5) Loss on Pulse = 5000 × 3000 = ` 250

 Required ratio = 250 : 3000 = 1 : 12

59. (1) S.P of others Food products

= 6400 × 
107

100
 = ` 6848

S.P of Oil  = 2000 + 500 + 250

= ` 2750

 Required difference = 6848 – 2750

= ` 4098

60. (1) S.P of Rice = 9300 × 
90

100
 = ` 8370

S. P of others food products = ̀  6848

 Required more%

= 
 8370 – 6848

100
6848

 
 
  

%

= 22.22%  22% more

(61-65) :

61. (2) Required total

= 
5000

1
10

  + 
1800

9
 × 4 + 

3400

17
 × 7

+
3600

9
 × 3 + 

7825
100 %

120000

 
  
 

× 4 +

1210

11
 × 5

= 500 + 800 + 1400 + 1200 + 1600 + 550

= 6050

62. (1) Total incomes of Computer from company

S = 
3600

9
 × 2 × 32000

= ̀  2,56,00,000

Total incomes of all the products from
same company

= 
3600

9
 × 4 × 12000 + 

3600

9
 × 3 × 8000 +

2,56,00,000

= 1,92,00,000 + 96,00,000 + 2,56,00,000

= ̀  5,44,00,000

 Required% = 
25600000

100 %
54400000

 
  
 

= 47.05 %  47%

63. (3) Total incomes from Company R

= 
3400

17
 × 6 × 6000 + 

3400

17
 × 4 × 42000 +

3400

17
 × 7 × 15000

= 72,00,000 + 3,36,00,000 + 2,10,00,000

= ̀  6,18,00,000

64. (5) Total income of mobile from Company T

= 
4000

10
 × 5 × 8000 = 1,60,00,000

Total incomes of all the products from

same company

= 1,60,00,000 +
4000

10
 × 1 × 26500 +

4000

10
 × 4 × 12200

= 1,60,00,000 + 1,06,00,000 + 1,95,20,000

= ̀  4,61,20,000

  Required % = 
16000000

100
46120000

 
  
 

%

= 34.69%  35%

65. (5) Required ratio

= 
1800

9
 × 4 × 16000 : 

4000

10
 × 4 × 12200

= 12800000 : 19520000

= 40 : 61

(66-70) :

66. (3) Average expenses of Sohan

        = 

96 10 129 30 36

120000360 100 360 100 360

10 51 40 48 20 5

100 360 100 360 100

 
    

 
 

       

= 
960 3870 360 2040 960 120000

36000 5

   


= ` 5460

67. (3) Expenses of Sonu on others

= 120000 × 
36

360
 × 

20

100
 = ` 2400

Expenses of Geeta on Travelling

= 120000 × 
51 15

360 100
  = ` 2550

 Required less %

= 
 2550 – 2400

100 %
2550

 
 
  

= 5.88% less  6% less
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68. (4) Average expenses of Monu

        = 

96 25 129 15 36

120000360 100 360 100 360

25 51 10 48 10 5

100 360 100 360 100

 
    

 
 

       

= 
2400 1935 900 510 480

36000

   
 × 

120000

5

= ` 4150

Average expenses of Sunita

       = 

96 15 129 25 36

360 100 360 100 360

30 51 10 48 25

100 360 100 360 100

 
    

 
 
       

 × 
120000

5

       = 
1440 3225 1080 510 1200 120000

36000 5

   


= ` 4970

Required% = 
4150

10 %
4970

 
  
 

= 83.501%  84%

69. (5) Average expenses on education of wife

and husband

= 12000 × 
96

360
 × 

25

100
 × 

1

2
 = ` 4000

Average expenses on Food of wife and

husband

= 120000 × 
129

360
 × 

55

100
× 

1

2
 = `11825

 difference = 11825 – 4000 = 7825

 Required % = 
7825

100 %
120000

 
  
 

= 6.52%  7%

70. (2) Required%

     = 

20 129 25 51
120000

100 360 100 360
100 %

10 96 10 129
120000

100 360 100 360

  
          

        
  

= 
 8600 4250

100 %
3200 4300

 
 
  

= 171.33% 171%

(71-75) :

71. (1) Required average

= (70 + 80 + 66 + 58 + 76 + 64) × 
50

100 6

= 
414 50

600


 = 34.5

72. (1) Required total

= 150 × 
65

100
 +100 × 

68

100
 +50 ×

66

100
+100

× 
69

100
 + 125 × 

80

100
 + 50 ×

80

100

= 97.5 + 68 + 33 + 69 + 100 + 40

= 407.5

73. (5) Total marks of Jitu in all the subjects

together

= 150 × 
60

100
 + 100 × 

74

100
 + 50 × 

62

100
 +

100 × 
54

100
 +125 × 

60

100
 + 50 × 

64

100

= 90 + 74 + 31 + 54 + 75 + 32

= 356

 Required % = 
356

100 %
575

 
  
 

 = 61.91%

 62%

74. (2) Marks obtained by Lucky in chemistry =

150 × 
85

100
 = 127.5

Physics = 125 × 
70

100
 = 87.5

Marks obtained by Priti in

Chemistry = 150 × 
65

100
 = 97.5

Physics = 125 × 
80

100
 = 100

Marks obtained by Alka in

Chemistry = 150 × 
70

100
 = 105

Physics = 125 × 
60

100
 = 75

Marks obtained by Javed in

Chemistry = 150 × 
80

100
 = 120
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Physics = 125 × 
90

100
 = 112.5

Marks obtained by Bipin in

Chemistry = 150 × 
90

100
 = 135

Physics = 125 × 
70

100
 = 87.5

Marksobtain by Jitu in

Chemistry = 150 × 
60

100
 = 90

Physics = 
60

125
100

  = 75

Only Javed is to be pas the examination.

75. (3) Total means obtained by Lucky in all the

subjects together

= 150 × 
85

100
 + 100 × 

62

100
+ 50 × 

72

100
 +

100  × 
68

100
 + 125 × 

70

100
 + 50 × 

70

100

= 127.5 + 62 + 36 + 68 + 87.5 + 35 = 416

Similarly by

Priti = 407.5

Alka = 150 × 
70

100
 + 100 × 

72

100
 + 50 ×

68

100
 × 100 × 

78

100
 + 125 × 

60

100
 + 50 ×

66

100
= 105 + 72 + 34 + 78 + 75 + 33 = 397

Javed = 150 × 
80

100
 + 100 × 

78

100
 + 50 ×

76

100
 + 100 × 

82

100
 + 125 × 

90

100
 + 50 ×

58

100

= 120 + 78 + 38 + 82 + 112.5 + 29 = 459.5

Bipin = 150 × 
90

100
 + 100 × 

80

100
 + 50 ×

72

100
+100 × 

66

100
+125 × 

70

100
 +50 × 

76

100

= 135 + 80 + 36 + 66 + 87.5 + 38

= 442.5

Jitu = 356

 Required answer is Javed.

(76-80) :

76. (3) Area of garden L

= 
1

2
 × b × h

= 
1

2
× 16 × 12 = 96 sq.m

 Cost of flooring

= 96 × 50 = ` 4800

77. (1) Perimeter of garden N = 15 × 4 = 60 m

 Cost of fencing = 60 × 18 = ` 1080

Perimeter of garden M

= 2(10 + 20) = 60 m

 Cost of fencing

= 60 × 15 = ` 900

 Required difference

= 1080 – 900 = ` 180

78. (4) Area of parallelogram = b × h

= 20 × 12 = 240 sq.m

 Cost of flooring = 240 × 60

= ` 14400

Perimeter of parallelogram = 2 (20 + 12)

= 64 m

Cost of fencing = 64 × 25 = `1600

 Required ratio = 14400 : 1600 = 9 : 1

79. (4) Perimeter of garden P

= 2 × 3.14 × 10 = 62.8 m

 Cost of fencing = 62.8 × 22

= ̀  1381.6

Area of garden N = 15 × 15 = 225 sq.m

 Cost of flooring

= 225 × 40 = ` 9000

 Required% = 
1381.6

100
9000

 
  
 

%

= 15.35%  15%

80. (2) Cost of fencing the garden N

= 15 × 4 × 18 = ` 1080

Cost of fencing the gardent O

= [2 (20 +12)] × 25

= 64 × 25 = `1600

 Required % = 
1080

100 %
1600

 
  
 

= 67.5%
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ENGLISH LANGUAGE

(136-145) :

136. (2) ‘Tried’ replace with ‘Try’.

137. (5) No corrections required.

138. (5) Here ‘will’  is not auxiliary verb – No

corrections required.

139. (1) ‘that be pacified’ replace with ‘To pacify

him’.

140. (2) ‘need’ used as verb . It will ‘‘needed’’.

141. (3) Sentence is not interrogative.

142. (4) ‘Compatible’ replace with ‘Competing’.

143. (2) We use present perfect verb with ‘so far’.

144. (1) Adverb (potentially) + adjective (serious)

+ Noun (damage).

145. (5) No correction required.

Word Meaning in English Meaning in Hindi

Agrarian Related to farming òQf"k lacaèkh

Arable Suitable for growing crops oQ̀f"k ;ksX;

Distort To deform or disfigure foòQr dj nsuk

Intermittent Irregular/Discountinuous :d&:d dj

Leveraging Providing an ability {kerk iznku djuk

Outstrip, out do To defeat or surpass vkxs fudy tkuk

Staunch Strong or loyal in support dV~Vj] mRlkgh (vius leFkZu
esa)

Divergence Difference varj

Diversified of defferent compostion fofoèk

Pragmatic Practical O;kogkfjd

Accentuate To worsen cRrj djuk

Alleviate To lessen suffering or pain nq[k ;k ihM+k de djuk

Clout Influence, power izHkko

Defunct No longer working fuf"ozQ;

Envy A feeling of discounted/jealousy bZ";kZ

fettered A restraint or check on someone freedom, Restricted ckfèkr djuk

VOCABULARIES
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Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

SBI PO (PHASE - II) MOCK TEST-96 (SOLUTION)

36. (2)

37. (4)

38. (5)

39. (5)

40. (4)

41. (1)

42. (3)

43. (2)

44. (4)

45. (4)

46. (2)

47. (4)

48. (2)

49. (3)

50. (1)

51. (1)

52. (3)

53. (2)

54. (1)

55. (2)

56. (4)

57. (2)

58. (5)

59. (1)

60. (1)

61. (2)

62. (1)

63. (3)

64. (5)
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